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1 g KB BN VA A= NEE S = 3/ 9 27. 46 ( 0.69)
2 K& BA EEE =l 3/ 3 27.75 ( 0.70)
3 Kk HHE 7 B i A = 3/ 2 28. 33 ( 0.64)
4 ER Bk K7 4w = 2/ 4 29. 61 ( 0.67)
5 A AR KLv7 4 =1 1/ 5 29. 62 ( 0.67)
6 UTkS  FLAR K =8| 2/ 6 29.76 ( 0.69)
70N SUEE EES = 2/ 2 29. 81 ( 0.71)
8 A i EES = 1/ 6 30.35 ( 0.70)
9 HE FHK EEE = 1/ 8 31.90 ( 0.89)
10 e fEK EE& =3 1/ 7 31. 94 ( 0.73)
11 ik BEdk ERE =a| 1/ 3 34.79 ( 0.67)
12 &% S AR = 1/ 2 37.18 ( 0.78)
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4 YRES  MEFR EEE 52 3/ 8 27. 44 ( 0.70)
5 BT #EE EEE =2 2/ 8 28. 88 ( 0.72)
6 [\ pEsk ER& =2 2/ 5 29.03 ( 0.66)
7T R IKIE 7 B i A8 52 2/ 7 29. 98 ( 0.64)
8 TR bt 7 B i A 52 2/ 3 31.12 ( 0.64)
9 7 A EEE =2 1/ 4 32.18 ( 0.88)
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